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Part I: Multiple choice — Circle correct answer.

1. Let f(x) be the function given by f(x)=+x+3. What is the y-intercept of
. Y
. Vs 2
the line tangent to f(x) at (1, 2)? £ 2 3 (3
N = i/\(
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2. If g(x)=cos*(2x), then g'(x) is Z (552w Cswze) ()

a)  —2cos2xsin2x CM/\ —4sin2xcos2x
c)  —sin®(2x) d)  —2sin(2x) e)  4cos(2x)

3. Which of the following statements must bmﬁj
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a) lonly b) I only ¢) Ilonly

@ IT and III only e) I, 11, and I




X 1 2 4 8
f(x) 3 4 9 -1
g(x) 0 6 2 1
S'(x) 9 -4 3 2
g'(x) 10 1 3 5
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4. Let h(x)=g(x)- f(x*). What is the value of A'(2)?

(A) -6 (B) 2 (©) 11 (D) 24 @143

5. The figure below shows the graph of the functions fand g. The graphs of
the lines tangent to the graph of fat x =—2 and x =1 are also shown. If

B(x)= f(x)-g(x), what is B’(—Z)?
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6.  If f(x)=sin[g(x)], then j—x[f(x)] is Coj(j GN) '-\()/ &)
a)  sinx-g'(x)+g(x) cosx b)  sinx-g'(x)—g(x) cosx

¢) cosx-g'(x) @ cos[ g(x)]-g'(x)

e)  None of these

7. If y=sin~'e*, then i —— e’
' Y ’ dx m:\}'
a) —e*cos2 e” b) e*sine* + e cose”
c) e*sin e” +¢e” @ g
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9.  Letfbe adifferentiable function with f (2)=3 and ‘J:(—Zl_z_:i, and let g be

a function defined by ¢(x)=xf(x). Which of the following is an equation of the

—

Jine tangent to the graph of g at the point where x =27

W y=3x W y-3=-5(x-2)
c) y—6=-5(x-2) @ y—6=—7(x—2)

e) y-6=-10(x—2)
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Part II: Free Response — Show all work.

x | g(x)| &(x)
0 -1 1
2 1 3
4 3 6
6 6 12
2l 8 4 8

1. Let f (x) be the function whose graph is given above and let g(x) be a
differentiable function with selected values for g(x) and g’(x) given on the table

above.

a)  Find the equation of the line tangent to g(x) at x=4.

3 (N=3
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J Y =3 =kl )
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b)  Let K be the function defined by K (x)=g(g(x)). Find K’(7).
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c)  Let M be the function defined by M(x) = g(x) : f(x) . Find M’(4) :

M [(Lc)zj@t\ £6) + £l 3'(%)
= 34\ ()
% 9

~d)  LetJbe the function defined by J(x)= S\ Find J(1).
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3. If g(x)zsec‘1 3x?, find g”(x)
L e

i
4= 3o

r"%:

-~ ’Z\c\ (A ‘\
-,
)
R L
- 3bx
(4\( 2/y Xz(“l“ B
_ ,%(O\J Z(‘\I‘X )
- - /3
— o 2(aex Y
% (,"ch"\
,b'“f\cn’*l



4.  Write the equation of the line tangent to f (x) =x-1—-x* at x=3. Show

all work
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